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There are a total of 26 questions and five sections in the question paper.

All questions are compulsory.

Section A contains questions number 1 to 5, very short-answer type

questions of 1 mark each.

Section B contains questions number 6 to 10, short-answer type I

questions of 2 marks each.

Section C contains questions number 11 to 22, short-answer type II

questions of 8 marks each.

Section D contains question number 23, value based question of 4 marks.



(vi)

(vii)
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Section E contains questions number 24 to 26, long-answer type questions

of 5 marks each.

There is no overall choice in the question paper, however, an internal
choice is provided in one question of 2 marks, one question of 3 marks and
all the three questions of 5 marks. In these questions, an examinee is to

attempt any one of the two given alternatives.

@usg <h

SECTION A

“ors1 wafie ot fgdftoes 3uemer g1 & & Wkt 8 |7 38 wed 1 gfE
i |

“Man can be a primary as well as a secondary consumer.” Justify this

statement.

A 3R Bleed grT Ufaurfed uferfeud seamet =t fafan |

Write the hypothetical proposals put forth by Oparin and Haldane.

RNA 9iferms 11 <6l &1 shrd BIdT & 2

Write the function of RNA polymerase II.

BT he 3R @Y FHe H TR FAW |

How does a degenerate code differ from an unambiguous one ?
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S fawrem (drenite) forel ot Sfta o <ifies Sfiaa-=sk ® T 21fd TTawe®
AT B | € RV TS |
Meiosis is an essential event in the sexual life cycle of any organism. Give

two reasons.

Qs @

SECTION B

TIH I TS FAT BT B 2 390 IH-ERT e YR werern ferdt 7 2

What is joint forest management ? How can it help in conservation of

forests ?

IS 3R 9 HR0T & = T Jd18T |

YT

T W ST el b SYF hl AT H Siqareg bel b Sg@ Ah Fid g 7
g HIfT |

Differentiate between outbreeding and outcrossing.
OR

Bottled fruit juices are clearer as compared to those made at home.

Explain.

S T foREt 3= T 9T T W OWHO U S &, 99 S9! Tad o fod
3T A 1 TAE & AT 8 | HROT d1d gQ fewanft Hif |

When you go for a trek/trip to any high altitude places, you are advised to

take it easy and rest for the first two days. Comment, giving reasons.
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9. 9% A¥UIEd TRl o T ITER fREl SiF @1 U 3eew diNY | 3|
bR b ST bl &7 had & ? 8 T o YT & [T ISR HRUT &1 Iedd
i | 2

Give an example of a gene responsible for multiple phenotypic
expressions. What are such genes called ? State the cause that is

responsible for such an effect.

10. STHTSEHA 1 BT & 2 foraml o fow o8 uftgean forg Jenr avesrd) gidt 8 2 2

What is apomixis ? How is the phenomenon useful to the farmer ?

Qs

SECTION C

11. AR SEHTE =1 Bl 3 2 9HSTd 90T | o fopg Tohr T g1l 8 2 Jieh
Toh-Ush 3R ST | 3

What are analogous structures ? How are they different from homologous

structures ? Provide one example for each.

12. (a) T=fafaa feafaai 8 89 9 a9 ami/fasrt o 9™ «qrsu

() s Yot BEgios AT THTEH % %ed & (oY Iaiert S
H IcqNEd 8 S

(i) 219 YU I Teh AR T (Hid) Torem™ &
(iii) AT (TORE T&9) XXY &

(b) SR feu 7u gt # Fifaa qi/faeRrl T i Uk @&l Sdisu | 3
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14.

15.

16.
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(a) Name the kind of diseases/disorders that are likely to occur in
humans if

) mutation in the gene that codes for an enzyme phenyl

alanine hydrolase occurs,
(i1)  there is an extra copy of chromosome 21,

(i1i1)  the karyotype is XXY.

(b)  Mention any one symptom of the diseases/disorders named above.

DNA-Sfehfae i Tewtet JISH1 < I JHI Teqd i & [ A1geieH
% W FHEAT i fohd YRR S feRar I 2

How was a heavy isotope of nitrogen used to provide experimental

evidence to semi-conservative mode of DNA-replication ?

Ioaded T BT & 2 39 W Juies Sfdey =1 o fean men g 2

What is amniocentesis ? Justify the statutory ban on it.

HTd ! IEholeh A1cTohl oh hICIT I ol Teh ATHIIhd NG SATEY |

Draw a labelled diagram of the sectional view of the seminiferous tubule

of a human.

ST ST o @1 I STIhA H FGEAd i o [T IH S 1 3T Tl <hl
JFTIHAT Bl 8 | 3 aIfed A sl 9 T& § Jfadl TIR & § W
YTshaT ST T T3 qYUT SHeh! SATEAT HITTT |

Many copies of a specific gene of interest are required to study the
detailed sequencing of bases in it. Name and explain the process that can

help in developing large number of copies of this gene of interest.
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17.  JeSEfERl 1 T Y@ AMGH I8 @ ¢ 6 388 fewri-ufad S %
e <kl fored faenfad h S Tehdt @ | TR Sarsy ok I8 ford YR 999
Topan 51 @ | 3

One of the major contributions of biotechnology is to develop
pest-resistant varieties of cotton plants. Explain how it has been made

possible.

18. <hgUT i fohA T i T HHT AT & ? Toh U= = § BH dTcl SHAHa
3R GHS9eH hl sare hifvT | 3

Why is earthworm considered a farmer’s friend ? Explain humification

and mineralisation occurring in a decomposition cycle.

19. GEifaar 3 gfaanfiar & = 3TaR 9d1Ey | SF1 Sl Teh-Ush 32T8TU ST | 39
T o S G a9 ot 9q1su | 3

Differentiate between parasitism and competition, giving one example of

each. State the common characteristic they share.

20. SiEgq TE[FATS UATSH EcoRI 1 fshal gRI gais DNA fmior &1 2o <6

U e yag = sATE | 3
YT

DNA-GUEl &l Y i H AT JATIEIARR o TART o [T I ITAsd i H

TITh deh-ileh 1 ATH SATST AT ITeh! AT ST | 3

Prepare a flow chart in formation of recombinant DNA by the action of
restriction endonuclease enzyme EcoRI.

OR

Name and explain the technique used for separating DNA fragments and

making them available for biotechnology experiments.
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22.

23.
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SUH IGTEL <! TERAT & Sia-fafaear e & fou gehivl €9 @ Imanft ok
Y &9 8 YA qehl shl AT hITT |

Compare narrowly utilitarian and broadly utilitarian approaches to

conserve biodiversity, with the help of suitable examples.

IR 1 i v o fau aifga-aa =1 form TR s&daTa foman < gehat © 2

GHSATHL ddigy |

How can sewage be used to generate biogas ? Explain.

Qs ¥

SECTION D

A 19 FEUEl g & Tt SfeA-urdl # Wi g | 9§l o <@ R $9
HgHM Teh shid H o3 HIhl I 791 @ o 3 fore) gered o1 Jaq s ©® 9 |
o<l 3 1E 39 4§ § UF ASH HE A, SEH RN FH T IR T8

TH O ALY B AT | T hE W IdT o R F Ak Hiesh (FRfiet) gt &
FA B Y |

(a) T AT Y HIA-d/Ahd o AR Sl 30 1A hl FIAT <l ?
B/AT | 39 I Al gfY S % T ST waTsy |

(b) Tl & Tt gerert o Fidl 3R 399 B9 aTell BT o R H Tsh I
el o | § died o foqw dom i |

(c) 3T Tga @ ffeda 1 fegl a1 fafemni =1 gema <ifSte arfes 39 =it
Terelt & SR fohT ST % Raets st § Smfa g1 < S '@ |

8
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You have attended a birthday party hosted by one of your classmates.
You found some guests at the party sitting in a corner making a lot of
noise and consuming ‘something’. After a while one of the boys from the
group started screaming, behaving abnormally and sweating profusely.

On enquiry you found that the group members were taking drugs.

(a) Would you inform your parents/school authorities ? Yes/No. Give

reasons in support of your answer.

(b)  Prepare a note to be circulated amongst the schoolmates about the

sources and dangers of any two drugs.

(c) Write any two ways that you will suggest to your school principal
so as to promote awareness amongst the youth against the use of

these drugs.

Qs &
SECTION E

qifcral- e hRIshA o T, ¢ § il 1 IHeH i % g fEfa
AT T S YA T =l ol Wil o eh AT Y |

(a) b1 (dFdH) 1 g1 ® ? THest T o= ° 399 fhE YRR UM+
Raetre gfaeer 3eq= &1 ot 2 |

(b)  TH-Ueh U IaTEW <hl TEEAT & Alshy iR FHfesha ufwen & = 31
SATST |

HAAT

939k FT B @ 2 BV H ITeh! YN I IV HIWT | TEEAHb-IahT I
YT A-JATehl k! T IEIAT & STl & 2
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Under polio prevention programme, infants in India were given polio

vaccines on a large scale at regular intervals to eradicate polio from the

country.

(a)

(b)

What is a vaccine ? Explain how does it impart immunity to the

child against the disease.

With the help of an example each, differentiate between active and

passive immunity.

OR

What are biofertilizers ? Describe their role in agriculture. Why are they

preferred to chemical fertilizers ?

(a)

(b)

TSI § 9T o 91 @ 3T ek SISl o U101 deh <hl FeA13T <hl
ST <hINT |

T UeqiHl st o ol Wt sl ShIfeRrsti o TUREal-EaR (FE0TT)
1 Iocig HIMT |

HYAT

Aet | =R 3T 3Tauqur gfshanei sl samen i |

(a)

(b)

Explain the events after pollination leading to the formation of a
seed in angiosperms.

Mention the ploidy levels of the cells of different parts of an
albuminous seed.

OR

Explain the process of fertilisation and implantation in humans.
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(a) T GIY IgET TSI ATA B dATell 3T TgEd ToiH! The et are!
TSI o S TeRTvT o UROUTHETEY, Fy Tt § S IS 1 hig Aol
o 7 fen, Sefe S gonfaai & @ewr Fy, o wafaat § e @
The B T | T T T SN hAd §U, 39 UG hl AT HINT |

(b) T ITET ! HRERAT § TG H1A SRIMT hl AT FHITT |

HAYAT

Tothe g 3wl 9 4 forg yehr furiaes &9 @ 917 wonfuq fosan f6 DNA &1
a3 qered BT § ? SAREA HifT |

(a) During a cross involving true breeding red flowered and true
breeding white flowered snapdragon plants, the F'; progeny did not
show any of the parental traits, while they reappeared in F,
progenies. Explain the mechanism using Punnett Square.

(b)  Explain polygenic inheritance with the help of an example.
OR

How did Alfred Hershey and Martha Chase conclusively establish that
DNA is the genetic material ? Explain.
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